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AER4A4TH 580 765 781 1,546
AERS5TH 943 1,082 1,071 2,153
AER6TH 373 401 397 798
FE/O 235 295 260 555
AB1TH 371 399 443 842
AHBT2TH 349 398 390 788
AB3TH 586 663 644 1,307
AHBT4TH 347 402 457 859
AB5TH 296 340 355 695
AHBI6TH 425 487 485 972
ABT7TH 268 269 277 546




BT 2 Al A O et R

(Fr28E7A1BIRE)
BT T 4 i 5 =z £t

AHBI8TH 296 362 358 720
Mm1TH 318 343 300 643
m2TH 543 608 561 1,169
m3TH 434 476 470 946
Hm4TH 301 359 344 703
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ERIE 334 423 438 861
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5 152 194 216 410
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L1 327 381 421 802
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B#3TH 145 182 196 378
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FEEIX1TH 423 503 540 1,043
Edk2TH 256 297 298 595
EWBFR1TH 325 359 410 769
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FEBE2TH 322 348 342 690
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FEBE6TH 285 338 340 678
INE R 365 514 483 997
*1TH 295 351 327 678
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¥HE2TH 723 980 1,026 2,006
¥A3TH 1,650 1,897 2,111 4,008
¥HE4TH 561 667 700 1,367
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E=3TH 313 376 381 757
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